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Note- All the questions are compulsory. 

Que.1 Fill in the blanks.                                                                                    (1x5=5) 

I. Tiger is a .................... because it eats only meat. 

 

II. We get sugar from ………………... 

                                                                                                                                                        

III. Plant fibers are obtained from ………… and ……………. 

    

IV. Animal fibers are …………. and ………………. 

 

V. Deficiency of vitamin C causes a disease ………………. 

Que.2 True or false                                                                                                (1x5=5) 

I. We get milk from cow.  

II. Rice is a source of carbohydrate.  

III. Meat alone is a balance diet. 

IV. Jute is the outer covering of coconut. 

V. Silk is obtained from silk worm. 

Que.3 match the following.                                                                                (1x5=5) 

Column A Column B 

Milk, ghee, paneer Scurvy  

Spinach, carrot, tomato wood 

Vitamin C Are animal products 

Chair  Beri beri 

Vitamin B Are plant products 



Que.4 Find the odd one out.                                                                    (1x5=5) 

I. Chair, bed, table, baby, cupboard. 

II. Rose, Jasmin, boat, marigold, lotus. 

III. Sugar, salt, sand, copper salt.  

IV. Tomato, potato, apple, tiger, carrot. 

V. Cotton, jute, silk, wool, nylon. 

Que.5 Draw the diagram of a plant and label its part.                          (5x1=5)  

Que.6 Answer the following questions.                                                   (2x5=10) 

I. What is carnivore? Give one example. 

II. What is herbivore? Give one example. 

III. What is omnivore? Give one example. 

IV. What are the source of food? Give example of each. 

V. Name the food items from which we get starch. 

 Que.7 Name five objects made from wood.                                           (1x5=5) 

  


